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P1 =(130/754 + 53/53 +0+0+112/113+0)/6=0,36

R1=(130/130+ 53/138+0/193+0/196+112/115+0/148)/6=0,39
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P2 =(130/190+126/126+126/126+103/103+115/199+145/176)/6=0,85

R2=(130/130+126/138+126/203+103/196+115/115+145/148)/6=0,84
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P3 =(252/443 + 219/475 +0/100+210/364+146/146+210/806)/6=0,48

R3=(252/352 + 219/500 +0/173+210/409+146/500+210/500)/6=0,40
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P4 =(263/445 + 218/456 +86/144+293/379+227/257+353/751)/6=0,63

R4=(263/352 + 218/500 +86/174+293/409+227/500+353/500)/6=0,59

353X· héi

227V¨n hãa

293Søc kháe

Ph¸p luËt

218182ThÓ thao

263Vi tÝnh

X· héiV¨n hãaSøc kháePh¸p luËtThÓ thaoVi tÝnh
P  

R 

22

112

21

83 60 4

82

68

70

87

94

79

30

86

P4 =(263/445 + 218/456 +86/144+293/379+227/257+353/751)/6=0,63

R4=(263/352 + 218/500 +86/174+293/409+227/500+353/500)/6=0,59

353X· héi

227V¨n hãa

293Søc kháe

Ph¸p luËt

218182ThÓ thao

263Vi tÝnh

X· héiV¨n hãaSøc kháePh¸p luËtThÓ thaoVi tÝnh
P  

R 

22

112

21

83 60 4

82

68

70

87

94

79

P4 =(263/445 + 218/456 +86/144+293/379+227/257+353/751)/6=0,63

R4=(263/352 + 218/500 +86/174+293/409+227/500+353/500)/6=0,59

353X· héi

227V¨n hãa

293Søc kháe

Ph¸p luËt

218182ThÓ thao

263Vi tÝnh

X· héiV¨n hãaSøc kháePh¸p luËtThÓ thaoVi tÝnh
P  

R 

P4 =(263/445 + 218/456 +86/144+293/379+227/257+353/751)/6=0,63

R4=(263/352 + 218/500 +86/174+293/409+227/500+353/500)/6=0,59

353X· héi

227V¨n hãa

293Søc kháe

Ph¸p luËt

218182ThÓ thao

263Vi tÝnh

X· héiV¨n hãaSøc kháePh¸p luËtThÓ thaoVi tÝnh
P  

R 

22

112

21

83 60 4

82

68

70

87

94

79

30






